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“MATHEMATICS
Paper- I1I (c) : Numerical Analysis and Programming in 'C'

F Time : Three Hours (A = MM : 75/66
| Part-A (Compllsory) ~ [Marks: 15]
| | ST- A (A ) S
1 Define factorial function. YR BT BI TR SR |

" Define interpolating polynomial. S13d ggu A aRwm AR

—~

i { :
Y T 3
e L
: f
'

2

3. Write down relationbetween forward difference and divided differ
ence for equalintérval, FHF IRTeT P forg STe =il famforT R A
=g e | .

4 - Define centralsum operator. B=d T GEHRD B TR AR |

5. Defing the method of successive approximation oriterationfor inverse
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10.

11,

12.

13.

14.

- 15.

16.

interpolation. Wikia™ ﬁéma%ﬁwaﬂmwﬁmmgwg% fafr <

R SR |
In usual notation, prove that:
AR wdad 4, Rig BIfR:
pd =sinh (kD)
Write down the formulae to fint pthroot of a glven number by Newton's

 iterative formula.

TP 7S G P qugfamm#a%mﬂgﬁaﬂmﬁwﬁvrﬁam
Define main function in C-programming.

C- YRIFH # main function @1 GRH SRR |
Deﬁ.ne scan-f and print-f library functions in C- programming.
C- YR ¥ scan-f T2 print-f AR Berl b IRMNERR |
Define strings and pointers. R ¥ Haais &1 R <o |
Part - B (%F°1—9)

Fmd the first term of the series whose second ane subscquent terms
are,8,3, 9,-1,0.

w%mmwaﬁa&mmmwwm 3,9, loqa%l |

- Prove that sum of the Lagrangé's coefficient is unity.

g PR % AR IO B BRT Had FHR el &

Use Gauss forward methoditefind y , from the following data:

T 1 g s e diiosl Yy, , @1 9 Sid SR |
 y,=10,y,£8,%=5,y,=10

Use method,of false position, find the real root of the cquanonx3 2x
5=0

foyea Rty AR gRTTHHRT £3 - 2x -5 = 0 F1 IRAAS 21 914 DA |

" Déscriberthe following: frfoRad &1 avi BIR:

(i)'Break and continue statement (ii) Arrays. i
Part-C (9I°1-9) |
Unit - I (381 1)

(@) If %, =Othen prove that: I Fu, =0 79 g PR

u -—( +ux_l)-—l—(A‘u +Au)
x+5 6

(b) The value of annuities are given for the following ages Find the
values of annuity at the age of 27.5: fimferRaa smgsii & e g
- M RARE, 27 5 P quﬁmmaﬁaﬁm

Age (I) Annvity (@) gRw
LS - 16195
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| 17. (a)

15919

15.630
15.326

15.006 -

The following table gives some relation between steam pressure and

termperature. Find the pressure at temperature 372°.
771 AR 3 o9 @ Tar9 ()TN (T) a1 & g G RA E,

372" HH R TG ST DI

Temp.(am) (T) Pressure (SAENP)
361° 1549

367° 167.0

378° 191.0- .
387° 2125

3900 2442

(b) Prove that the nth divided difference can beexpressed as the quotient |
: of two determinants, each of ordet (n ) Rig PR 5 nai R e
(n + I) o9 & <1 ORPRT & ArGe@ BT § =gw GO o1 9o §

Unit-TL (3310 )

18: (@) Use Stirling formulae tofindy_from the following data:
Rexfer O gR1 Frreias) 9 Y, 1A S Biford:

th O =

10
IS
20 .
25
30

e
3010
2710
2285
1860
1560
1510
1835

(b) Find x, when f(x) 13, giventhat; -
xmﬁmuﬁﬂx) 13m3rﬁm%

X

44
45
46
47

fix)

1340
13.16
1293
1268

19 (a) Compute log 2 using Weddle's rule with seven ordinates to evaluate
] dx mmmwmgﬁmﬁm%mj_

1+x

qﬁaﬁﬁﬁloge?.ﬁﬂﬂﬁﬁlﬂﬂﬁml
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21.

®)

(a)

(b)

(a)

(b)

Find the root of the equation xJog ,x-1.2 =0 correct to four -
places of decimals by the Newton-Raphson method:

- XHa Tafd gReiiexvl x log  x-1.2 =0 aba\frraw
I XM 0@ S DI |

Unit - I (§B18 — 1I0)
Write a program in C for calculating area of a triangle of sides

a, b and ¢ by using formulae:

atd+c
2

ﬁ'ﬁﬁf BT EFBA area = y3{5 7 )s= bis = c)?ﬂmmmgq IRl

@, b ¢ TS BI4RIT €, B C — Jrm iRy, el == 22515
Explain with examples :

frferiad B aERa:

(1) Logical Operators  (ii) Control stateiments _

Write aprogramin C to calculate factorial of any number

ﬁﬂ%wmmﬁmaﬁmaﬂﬁw C—um T |

What'is the difference between stremp ( ), strncmp ()an

aree = ys(s-¢)s-b¥s—¢) Wheres=

‘Strempi () ?

strbmp(), stmcmp()ﬁ‘l‘x’strcmpi()fi IR TS ?
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